Trigonometry - 7.1 - SOlving Triangles with the Law of Sines January 31, 2017

6.6 #1-21 odd finding solutions between 0 and 2pi
#61-69 odd finding all possible solutions (+2pi*k)
#71-83 odd

Quiz on solving equations Fri. Feb 3; Test #4 - Wed. Feb 8

Due Tues. 2/7:

o 7.1#7-21 odd solving triangles with Law of Sines
e 7.2#9-19 odd solving triangles with Law of Cosines
o 7.2 #25-290dd area

Lind X ol o0& en~. - ) B
A m——~+cosx—l ( \5
- cosX sm* = [—cosx
1260 con, @ =l

| - CooK + Rebsx =
COSK = |

X = (O ALK =




Trigonometry - 7.1 - SOlving Triangles with the Law of Sines January 31, 2017
. Xe Co,2m™)

S NLxX Cosx + CO52x SN = 1)
SN A cov b + cos o~ gl\/\b
6t‘r\(owb)

sin(2x+x) =0
smAx =0

Z)/X; Wﬁ“} 710, 4y o1
=

P

43 . XE€0,27)

2 5iAXCOSX + ZSINK—DSX— | = O
\/\/\_ N —

Q51n% (cosmzv — | <(,05><+|7 =0
< co§><+\)<5¢5\‘m<’ 1)="0



Trigonometry - 7.1 - SOlving Triangles with the Law of Sines January 31, 2017

\A. 4’61‘(\2)( + A3 sink - $3 =Z3in%

a

7.1 The Law of Sines

Low s& Cogines,
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How do we solve oblique (not right) triangles?
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The Law of Sines
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